John Deere > Agriculture >LOADER, SKID-STEER >331G - LOADER, SKID-STEER >331G Compact Track Loader (PIN: 1T0331G__ _F300253- ) (PC15045) >19 Sheet
Metal & Styling >1910 Hood or Engine Enclosure >Track Frame Covers ( - 338435) - ST860809

ETN133224_TX1213883

1N



John Deere > Agriculture >LOADER, SKID-STEER >331G - LOADER, SKID-STEER >331G Compact Track Loader (PIN: 1T0331G__ _F300253- ) (PC15045) >19 Sheet Metal & Styling >1910 Hood or Engine Enclosure >Track Frame

Covers ( - 338435) - ST860809

KEY PART NO. PART NAME QTY REMARKS

1 AT497067 Cover 1 RH, SUB FOR AT473493, AT456844
2 AT497064 Cover 1 LH, SUB FOR AT473494, AT456845
3 AT497066 Cover 1 RH, SUB FOR AT473217, AT456846
4 AT497065 Cover 1 LH, SUB FOR AT473218, AT456847
5 T417498 Cover 1 RH, SUB FOR T387257, T366070

6 T417499 Cover 1 LH, SUB FOR T387258, T366224

7 T383282 Cover 1 RH

8 T383283 Cover 1 LH

9 T389526 Cover 2 RH, SUB FOR T383236

10 24M7523 Washer 8 10.500 X 30 X 2.500 mm

11 37M7445 Screw 8 M10 X 20

12 24H1982 Washer 4 21/64" X 1-1/4" X 7/64"

13 19M9836 Screw 10 M8 X 20

14 19M9845 Screw 8 M10 X 25

15 19M9837 Screw 4 M8 X 25

16 14M7649 Flange Nut 4 M8

17 19M9405 Screw 4 M8 X 16

BE11




	ST860809 - Track Frame Covers ( - 338435)

